For comments, corrections, etc...Please contact Ahnaf Abbas: <u>ahnaf@mathyards.com</u> Sharj ah Institute of Technology



Differential Equations

Handout #11

Торіс	Interpretation
Definition	Examples1:
A differential equation expresses	
a relation between a function, its	(1) $\frac{dy}{dx} - 2y = e^x$ First order , first degree
derivative and the independent	(2) $y''+4y'+4y=tInt 2^{nd} order ,1^{st} degree$
variable.	
Order The order of the <i>highest derivative</i>	$(2) (d^2y)^3 - 2(dy)^3 + (d^2y)^3$
present in the equation.	(3) $\left(\frac{d^2 y}{dt^2}\right)^3 - 2\left(\frac{dy}{dt}\right)^5 + y = t^2 + 1$
Degree	
The highest <i>power</i> of the highest	Second order ,third degree
order of derivative present in the	Example 3:
equation.	Solve the D.E. (differential equation) $y'' = 6$
Solving differential equations	$y' = \int 6dt = 6t + c_1$ (note the c_1 because we
a. Equations of the form $y' = f(t)$	need to integrate once more)
simply integrate both sides of the	$y = \int (6t + c_1) dt = 6t^2/2 + c_1 t + c_2 = 3t^2 + c_1 t + c_2$
equation.	Example 4:
Example 2:	$\frac{dy}{dt} = \frac{2t+1}{y} \implies ydy = (2t+1) dt$
$\frac{dy}{dt} = e^t + 2; \int dy = \int (e^t + 2) dt;$	$\frac{y}{dt} = \frac{y}{dt} \Rightarrow y dy = (2t+1) dt$
dt	-
$y = e^{t} + 2t + C$	$\int y dy = \int (2t+1)dt \implies \frac{y^2}{2} = \frac{2t^2}{2} + t + c$
b. First order ,first degree	$\int y dy = \int (2i+1)di \implies \frac{-2}{2} = \frac{-2}{2} + i + c$
Equation:	\Rightarrow y = 2t ² + 2t + 2c
$P \frac{dy}{dt} + Q = 0$	Let $2c = C \Rightarrow y = 2t^2 + 2t + C$
dt	Actually no need to do all the arithmetic for
Where P and Q are functions of y	the constants, just replace them by C.
and t.	
Case 1 : Separable variables	Example 6:
$dy = f(y) g(t) \Rightarrow dy = g(t) dt$	$\frac{dp}{dt} = (4-p)^3 \implies \frac{dp}{(4-p)^3} = dt; \int \frac{dp}{(4-p)^3} = \int dt;$
$\frac{dy}{dt} = f(y)g(t) \Rightarrow \frac{dy}{f(y)} = g(t)dt$	$dt \qquad (4-p)^3 \qquad (4-p)^3$
Then integrate both sides.	$u = 4 - p \Rightarrow du = -dp \Rightarrow \int \frac{-du}{u^3} = t + C$
(see Example 4)	$u - 4 - p \rightarrow uu - up \rightarrow \int \frac{1}{u^3} - i + c$
Example 5:	$\int -u^3 du = t + C \implies \frac{1}{2} u^{-2} = t + C$
	$\Rightarrow \frac{1}{2} (4-p)^{-2} = t + C$
$\frac{dy}{dt} = \frac{(y^2 + 5)e^{2t}}{2y} ; \ y(0) = 1$	\Rightarrow 72 (4-p) = t + C
<i>uu = y</i>	
$\Rightarrow 2y \frac{dy}{dt} = (y^2 + 5)e^{2t}$	
$\int dt = \int dt$	Example 7:
$\Rightarrow \frac{2ydy}{dt} \Rightarrow \int \frac{2ydy}{dt} = \int \frac{2y}{dt} = \int \frac{2y}{$	$y^{3} + (x^{2}y + x^{3}) \frac{dy}{dx} = 0$; homoa. Of dea. 3
$\rightarrow \frac{1}{y^2 + 5} = e ai \Rightarrow j\frac{1}{y^2 + 5} = je ai$	$\frac{dx}{dx} = 0; \text{ homog. Of deg. 3}$
	ļ

For comments, corrections, etc...Please contact Ahnaf Abbas: <u>ahnaf@mathyards.com</u> Sharj ah Institute of Technology



معهد الشارقة للتكنولوجيا SHARJAH INSTITUTE OF TECHNOLOGY

$$\begin{aligned} \ln(y^4 + 5) &= y_2 e^{x^4} + C \\ y(0) &= 1: \text{ substitute } t = 0 ; y = 1 \\ \ln 6 &= y_2 + C \Rightarrow C = \ln 6 - y_2 \\ \ln(y^2 + 5) &= y_2 e^{x^4} + \ln 6 - y_2 \\ \ln (y^2 + 5) &= y_2 e^{x^4} + \ln 6 - y_2 \\ \text{Case 2: Homogeneous Equations:} \\ \text{An equation in x and y is said to} \\ \text{be homogeneous if the sum of the} \\ \text{powers of x and y is the same in} \\ \text{all of the terms.} \\ e.g. x^2y^4 + 2x^5y - 3x^4y^2 + 4y^6 is \\ \text{homogeneous of degree 6.} \\ \text{Solution method: Rewrite the} \\ \text{equation: P} \frac{dy}{dt} + Q = 0 \\ \frac{dy}{dt} = \frac{-Q}{p}; \text{ (divide both the} \\ \text{numerator and denominator by } x^n \\ \text{Where n is the degree of} \\ \text{homogeneity, then set } v = \frac{y}{x} \\ y = vx \Rightarrow \frac{dy}{dx} = v + x\frac{dv}{dx} \\ \text{Substitute this in the original} \\ \text{equation to get a separable} \\ \text{of variables equations using} \\ \text{substituton :} \\ \textbf{1. Reducible to a homogeneous:} \\ \frac{dy}{dx} = \frac{a_1x + b_1y + c_1}{dx} \\ \frac{dy}{dx} = \frac{a_1x + b_1y + c_2}{(x^2 + a_2 + b_2y + c_2)} \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{If } a_1b_2 - a_2b_1 \neq 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{th ad k are the solution of :} \\ a_1x + b_1y + c_1 = 0; a_2x + b_2y + c_2 = 0 \\ \text{th$$